5.1 Day 6.notebook October 29, 2019

Foundations of Algebra Unit 5: Linear Functions Notes

Day 6: Y-intercepts — b = beq{”n(fj

A y-intercept is the point where the graph crosses the y-axis. Its coordinate will always be the point (0, b),
where b stands for the number on the y-axis where the graph crosses and the value of the x-coordinate will

always be 0. -m >< _* b K\ﬂ—lh‘\‘e\fcet)k

Ex. Identify the y-intercept in the following sdpreserjations:
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Real World Y-Intercepts

In a real world situation, the y-intercept represents the starting value or starting point. Determine the y-intercept

for the following table: 13,‘ r\k g ( O . Z (S’_"Vq/@/ U—ﬁ
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After adding three more weeks of his allowance, his savings is now Determine the y-
spt and explain what the y-intercept means in terms of the pr:
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